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Roll ……………… 
B.A.(Part- III) 

Examination 2012 
EHI-05 

India: from Mid 18 th till Mid 19 th Century A.D. 
Hkkjr% vBkgjoha “krkCnh ds e/; ls mUuhloha “krkCnh ds e/; rd 

 
Time: 3 Hours                                                                        Max Marks:70  
 
 Note: The Question paper is divided into three sections A, B and C. 
Answer according to the instructions given in each section. 
uksV%  ;g iz”ui= d] [k vkSj x rhu [k.Mksa esa foHkkftr gSA izR;sd [k.M ds 
funsZ”kkuqlkj iz”uksa dk mÙkj nsaA 
                         

Section-A 
[k.M&d 

(Long Answer Questions) 
¼ nh?kZ mÙkjh; iz”u ½ 

 
Note: Answer any two questions.                                                   2 x 20=40 
uksV% fdUgha nks iz”uksa ds mÙkj nsaA 
 
1. Give a critical appreciation of the character and achievements of Tipu 
Sultan. 

 Vhiw lqYrku ds pfj= vkSj miyfC/k;ksa ij vkykspukRed fVIi.kh fyf[k;sA 
2. Discuss the policy of conquest and annexations followed by Dalhousie. 

MygkSth }kjk viuk;h x;h fot; vkSj foLrkj dh uhfr dh leh{kk dhft;sA 
3. How would you explain the failure of revolt of 1857?  
    1857 ds fonzksg dh vlQyrk dh vki fdl izdkj foospuk djsaxs\ 
4. Throw light on the development of modern education and its impact on 
Indian  
    society. 
    vk/kqfud f”k{kk ds fodkl vkSj Hkkjrh; lekt ij mlds izHkko ij izdk”k Mkfy;sA 
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  Section-B 

[k.M&[k 
(Short Answer Questions) 

¼ y?kq mÙkjh; iz”u ½ 
 

Note: Answer any four questions. Each answer should not exceed 100  
          words. Each question carries 5 marks.                                    4x5= 20   
                                                   
uksV% fdUgha pkj iz”uksa ds mÙkj nhft,A izR;sd iz”u 5 vadksa dk gSA 
 

 

1. Trace the rise of the Maratha Empire under the third Peshwa Balaji  
        BajiRao? Why did it fail to survive? 
      rr̀h; is”kok ckykth ckthjko ds v/khu ejkBk lkezkT; ds mRFkku dk o.kZu 
dhft;sA 
      og lkezkT; D;ksa ugha dk;e jg ldk \ 
2. How did the Industrial revolution in England affect Company’s policies  
     about India? 

    baXyS.M esa vkS|ksfxd ØkfUr us dEiuh dh Hkkjr lEcU/kh uhfr;ksa dks dSls izHkkfor 
fd;k\  
 3.  What were the factors which contributed to the Anglo French struggle in  

South India? 
mu ifjfLFkfr;ksa dks Li’V dhft;s tks nf{k.k Hkkjr esa vkaXy&ÝSap la?k’kZ ds fy, 
mRrjnk;h   FkhaA  

4. In what way did the British land revenue policy changed agrarian system 
in India? Explain. 

   fczfV”k Hkw jktLo uhfr us Hkkjrh; df̀’k O;oLFkk esa fdl izdkj cnyko fd;k \  
   O;k[;k dhft;sA 
 
5. Write a note on Bangla literature which inspired the Indians in the 19th 

century. 
   19oha “krkCnh esa Hkkjrh;ksa dks izHkkfor djus okys ckaXyk lkfgR; ij fVIi.kh fyf[k;sA  
6. Write a note on the regulating act of 1773 and the powers of the 

Governor   General. 
   lu~ 1773 ds jsxwysfVax ,DV vkSj xouZj tujy dh “kfDr;ksa ij ,d fVIi.kh fyf[k;sA 
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7. Bring out the contribution of Ishwar Chandra Vidyasagar to the uplift of 
India’s womanhood?  

   Hkkjrh; efgyk txr ds mRFkku gsrq bZ”oj pUnz fo|klkxj ds ;ksxnku dk o.kZu 
dhft;sA 
8. Write short notes on Nana Sahib and Rani Laxmibai. 
   ukuk lkfgc vkSj jkuh y{ehckbZ ij laf{kIr fVIi.kh fyf[k;sA  
 

  Section-c 
[k.M&x 

Objective Questions (Compulsory) 
 oLrqfu’B iz”u ¼vfuok;Z½ 

 

Note: Answer all questions.                                                             10x1= 10                                                    
uksV% lHkh iz”uksa ds mÙkj nhft,A  
 

Choose the correct alternative: 
lgh fodYi pqusa % 
 

1. The revolt of 1857 began at Meerut on  
        a. 24th April                     
        b. 9th May 
        c. 10th May                     
        d. 29th March 
       1857 ds fonzksg dk izkjEHk esjB esa gqvk 
     v- 24 vizSy dks 
     c-  9 ebZ dks 
     l- 10 ebZ dks 
     n- 29 ekpZ 
 

2.   The subsidiary alliance was not accepted by 
        a. the Nizam of Hyderabad 
        b.the Holkar of Indore 
        c. the Rajput of Jodhpur 
        d. the Bhonsle of Berar 
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   fuEu esa ls fdlus lgk;d lfU/k Lohdkj ugha dh\      
     v- gSnjkckn ds futke 
     c- bankSj ds gksYdj 
     l- tks/kiqj ds jktiwr 
     n- cjkj ds Hkksalys 
      
3. The Governor General of Bengal was made the Governor General of  
     India by the act of 

a. Charter Act of 1833 
b. Charter Act of 1813 
c. Charter Act of 1853 
d. Regulating Act of 1773 
 
caxky ds xoZuj tujy dks fdl ,DV ds }kjk Hkkjr dk xoZuj tujy cuk;k 
x;k\ 

     v- 1833 ds pkVZj vf/kfu;e  
     c- 1813 ds pkVZj vf/kfu;e 
     l- 1853 ds pkVZj vf/kfu;e 
     n- 1773 ds jsx;wysfVax vf/kfu;e 

 
      4. After, the Battle of Plassey,the East India Company was granted 
           Un-disputed right to free trade in 

a. Bengal 
b. Bihar 
c. Orissa 
d. All of these   

Iyklh ds ;q) ds i”pkr bZLV baf.M;k dEiuh dks dgk¡ Lora= O;kikj djus dk 
fufoZokfnr vf/kdkj izkIr gqvk\ 

     v- caxky 
     c- fcgkj 
     l- mM+hlk 
     n- mijksDr lHkh 
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       5. Which one of the pair is incorrect? 
           a. Robert Clive- Dual system of Bengal 
           b. Warren Hastings- hindu widow remarriage bill 
           c. Dalhousie- Charles Wood’s dispatch on education 
           d. William Bentinck – abolition of sati 
 

      fuEu esa ls dkSu lk tksM+k lqesfyr ugha gS\  
    v- jkcVZ Dykbo& caxku dk }S/k “kklu  
    c- okjsu gsfLVaXl& fgUnw fo/kok iquZfookg fcy 
    l- MygkSth& pkYlZ oqM dk f”k{kk lEcU/kh fMLiSp 
    n- fofy;e cSafVd& lrh izFkk dk vUr 

 
      6. Pick out the wrong pair- 
           a. Bankim Chandra- Bengali 
           b. Lakshminath Bezbarua- Assamese 
           c. Subramanya Bharti- Marathi 
           d. Bharatendu Harishchandra- Hindi  

          
      fuEu esa ls xyr tksM+s dks NkaVsa\ 
    v- cafde pUnz& caxkyh 
    c- y{ehukFk cStc:vk& vklkeh 
    l- lqcze.;e Hkkjrh& ejkBh 
    n- HkkjrsUnq gfj”pUnz& fgUnh 

 
          Write true/false against the following - 

   fuEufyf[kr ds lkeus lR;@ vlR; fyf[k,A 
 
      7. The British government interfered in the activities of the East India      
           company directly for the first time in 1773.                   (True/ false) 
 

     fczfV”k ljdkj us bZLV bafM;k dEiuh dh xfrfof/k;ksa esa 1773 esa izFke ckj lh/ks 
    gLr{ksi fd;kA ¼lR;@vlR;½ 
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       8. The main direct consequence of the decay of traditional handicrafts 
            In India was large scale import of British goods.      (True/ false) 

 
  fczfV”k mRiknksa dk Hkkjh vk;kr ijEijkxr Hkkjrh; gLrf”kYi ds iru dk eq[;    
dkj.k jgkA                                                ¼lR;@vlR;½  
 
9. The permanent settlement was introduced in Bengal and Bihar by  

       Lord Hastings.                                                           (True/ false) 
 
          caxky vkSj fcgkj esa LFkk;h cUnkscLr dk izkjEHk ykMZ gsfLVaXl ds }kjk fd;k x;kA 
                                                             ¼lR;@vlR;½  
     10.  Young Bengal movement was a religious movement. 
                                                                                             (True/ false) 
           ;ax caxky vkUnksyu ,d /kkfeZd vkUnksyu FkkA           ¼lR;@vlR;½  
 
 

 
 
 
 
 

 


